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dbiEE AR mdE X EEZALIRED — iR IRIE 12 0.086 0.060 ~ 0.15
dtiEE FLIRT L X (E3E5] —iRIRIE 12 0.085 0.045 ~ 0.18
dbimeE  [FLiRTEX EREE2— —RIREE 12 0.085 0.046 ~ 0.21
dbimE BB i/ NERGRIE R — RIS 12 0.068 0.029 ~ 0.27
diEE  |EKEET EENMNERAER —RIRIE 12 0.067 0.033 ~ 0.26
dbimE | ST B/ NEB — R IRIE 12 0.061 0.025 ~ 0.13
s | E/MEH GESNE]D) —RIRIE 12 0.065 0.030 ~ 0.13
dimE | Fmm HOHBIER — R IR 12 0.15 0.044 ~ 0.44
EHRE [BEHFM RINERF —RIRIE 12 0.077 0.038 ~ 0.15
EHE  |shElT BARIE—hERB —HRIRIE 12 0.084 ( 0.020 ) ~ 0.58
EHE  |\Fmh INEINERD —RIRIE 12 0.13 0.051 ~ 0.66
EFE [EMEH EEHB —HRIRIE 12 0.070 0.023 ~ 0.15
=2F8 AT BB —RIRIE 12 0.062 0.027 ~ 0.12
=2FE dtEm I EHFEHE —IRIRIE 12 0.059 0.033 ~ 0.10
EFE oy k] LER —IRIRE 12 0.057 0.033 ~ 0.097
EHRE |WETERFX|DEHE —RIRIE 12 0.094 0.045 ~ 0.27
EHE  |WETERFX|BEE — R IRIE 12 0.098 0.058 ~ 0.26
ERE  |BEH EE—REREXSAER —iRIRE 12 0.15 0.067 ~ 0.28
EWE | KH T — IR A SKAIE S —RRIREE 12 0.16 0.080 ~ 0.32
ERE |=HIFAE |EREES —RIRIE 12 0.088 0.048 ~ 0.18
MHE [BEH elll=) —RIRIE 12 0.13 0.041 ~ 0.64
IRz 2 Rz L BR PR S —RIRIE 12 0.065 0.014 ~ 0.17
IWiE BT EHEER — iR IRIE 12 0.10 0.059 ~ 0.14
BEE =0t B K HT —RIRIE 12 0.046 ( 0.009 ) ~ 0.12
BEE  [ElH ElpAANE —RIREE 12 0.081 0.024 ~ 0.16
BE5E  |Emh FER — RIS 12 0.083 0.022 ~ 0.15
BERE  |LvbhEm BLE —RIRIE 12 0.063 ( 0.022 ) ~ 0.12
ZBHE  [KEH KERID — R IRIE 12 0.090 0.048 ~ 0.22
xR Hirmh Bim&E —RIRIE 12 0.086 0.045 ~ 0.15
ZEE  |LiETm THEREME —RRIRIE 12 0.083 0.039 ~ 0.12
ZWE  |EIST RIS 3 (FBIE ) —RIRIE 12 0.10 0.041 ~ 0.23
ZWHE  |FAET AEREB — R IRIE 9 0.076 0.035 ~ 0.12
R BT BB —RIRIE 3 0.082 0.054 ~ 0.097
ZFE [T HIETEARD —RIRIE 12 0.10 0.035 ~ 0.22
HmARE FHEH FH/NERR —IRIRIE 12 0.094 0.043 ~ 0.21
mARE [BHH EHHZHELARE — iR IRIE 12 0.10 0.039 ~ 0.27
HAE  [#EAH B E 2/KE —RIRIE 12 0.094 0.040 ~ 0.17
WwARE [KHAEFEH B EERL 52— —RIRIE 12 0.082 0.040 ~ 0.17
AR |[FHm BEER —RRIRIE 12 0.088 0.039 ~ 0.15
HEER [T HIER S —RIRIE 12 0.19 0.095 ~ 0.34
HERE |[E&H FEAREE — R IRIE 12 0.20 0.12 ~ 0.36
HEE |Eiamh HEREL S— —iRIRE 12 0.21 0.13 ~ 0.33
BEER |[KHM AH—RE — R IRIE 12 0.077 0.035 ~ 0.14
HER g 11Kl EIE1T—8E —RIREE 12 0.078 0.035 ~ 0.13
BEERE |&dh ZHEA—HH — R IRIE 12 0.083 0.036 ~ 0.15
BEE SWEFHTIER |ERAIES —HRIRIE 12 0.086 ( < 0012 ) ~ 0.13
BERE [SOVFhXER|KEXERM — AR IRIE 12 0.061 ( < 0012 ) ~ 0.13
BERE  |[SWV-FhhiRE |BERFHREE2— —RIRIE 12 0.060 (< 0012 ) ~ 0.12
BERE SOV FHEHRE SNV -FmERMAER —RIREE 12 0.060 ( < 0012 ) ~ 0.13
BEE | SOEFHhEMR | ERAER —RRIRIE 12 0.066 ( < 0012 ) ~ 0.14
BEE  |)I#EH JN#EH ) BAIE —RIRIE 12 0.072 0.031 ~ 0.15
BEE  |)I#H J1#h = BRI E B —RIRIE 12 0.069 0.034 ~ 0.13
BER [EEAT EAE —RIRIE 12 0.081 ( < 0027 ) ~ 0.21
BER  Odm NOmZAER — AR IRIE 12 0.11 0.043 ~ 0.19
BEE o NOmEERES —IRIRIE 12 0.11 0.049 ~ 0.19
BER  |FRM L EFBIE B — AR IRIE 12 0.065 0.013 ~ 0.13
BEE hnZETh RIEEZFEERCE —RIRIE 12 0.088 (< 0027 ) ~ 0.22
BER  [E#UTh EIANITG) — iR IRIE 12 0.085 (< 0.027 ) ~ 0.22
BER EHBHE® EHEHZFT —IRIRIE 12 0.080 0.016 ~ 0.21
BEE AT HHUAH —RIREE 12 0.059 0.027 ~ 0.10
FEER FEHTHLEX [f8IESF —IRIRE 12 0.085 ( < 0.006 ) ~ 0.19
FEE |FETHPRX [FEIDER —RIRIE 12 0.080 (< 0.007 ) ~ 0.15
FTEE |FERHER FEHKER — AR IR 12 0.088 0.033 ~ 0.25
FEE |FTEHEER |ERAE —RIRIE 12 0.14 0.047 ~ 0.69
FEE |#kFH FHHEREE 22— — R IRIE 12 0.070 0.040 ~ 0.12
FEE |Wmm )IFEAE —RIRIE 12 0.12 (< 0003 ) ~ 0.42
TEE |MES MESIEER —RIRIE 12 0.078 0.030 ~ 0.17
FEE BT EEILETRE —RIRIE 12 0.086 ( 0.034 ) ~ 0.19
TEE |WFM WEEREXD — iR IRIE 12 0.12 0.056 ~ 0.23
TEE |BHE™ BHE MBI — RIS 12 0.086 0.041 ~ 0.21
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FEE BT BEBKEEDBRE — iR IRIE 12 0.083 0.036 ~ 0.18
FEE ZiEH EREARE —RIRIE 12 0.098 ( 0.035 ) ~ 0.23
FTER Bm BHERER —RIREE 12 0.094 0.043 ~ 0.22
TEE | FIEPEEE |EERTVILANA—AMEE— — RIS 12 0.078 0.040 ~ 0.15
RE#  |PRX P RXEES —RIRIE 12 0.10 ( < 004 ) ~ 0.22
RE#  |FEX EERRIER — R IRIE 12 0.11 ( 0.04 ) ~ 0.25
RIRER BERX BEXBXAH —RIRIE 12 0.10 ( 0.05 ) ~ 0.26
RE# | KHARX AHEEHEE —RIRIE 12 0.12 (< 004 ) ~ 0.31
RE#B |REX RAEX K ET B —RIRIE 12 0.10 ( 0.04 ) ~ 0.25
EE#  |#BEX BEXEMARD —HRIRIE 12 0.10 (< 004 ) ~ 0.28
RE#  |BEURX BAXRBEHHSE —RIRIE 12 0.10 (< 004 ) ~ 0.26
RE#  IFIRX IFPNREIRE —HRIRIE 12 0.10 (< 004 ) ~ 0.24
RE# | /\EFTH AEFEF — RIS 12 0.060 0.028 ~ 0.14
RE&  |/\EFH HERD —RIREE 12 0.056 0.015 ~ 0.14
RE# |/hEHT hEHTREL F— — RIS 12 0.09 (< 004 ) ~ 0.23
RE#E |EKFH RAMMERERS —RIRIE 12 0.10 ( 0.05 ) ~ 0.22
RE# |AZEREEN|EZERERE — R IRIE 12 0.08 (< 004 ) ~ 0.16
AE)IE |[EETmHX B =R/NERE —RIRIE 12 0.078 0.019 ~ 0.17
#AXRINNE lEHIEX  |EE)IGE — R IRIE 12 0.13 0.037 ~ 0.31
#MENE NGHPEX  |PEAER —RIRIE 12 0.085 0.030 ~ 0.22
#HE)E NBHEEX |ZEAED —RIRIE 12 0.085 0.035 ~ 0.15
#ME)E [EEETDEX |HEAIER —RIRIE 12 0.076 0.016 ~ 0.20
MmE)IE [#EED BETRES— — iR IRIE 12 0.11 0.039 ~ 0.23
MmE)E [#EED BEEMEAR — RIS 12 0.11 0.039 ~ 0.25
#EIE |FiFEh B/NERF —RIREE 12 0.078 ( 0.012 ) ~ 0.18
#MmE)IE [ERT BRTRAB —RIRIE 12 0.10 0.041 ~ 0.21
#mE)IE [BERT HRT R /NVER S —RIREE 2 0.12 0.060 ~ 0.17
#mE)IE [/MAET INARERTRAE — R IRIE 12 0.13 0.016 ~ 0.64
M) [(FEFH EHEHEB —RIRIE 12 0.078 ( 0.015 ) ~ 0.15
#RINNE |EXH EXT&EAE —HRIRIE 12 0.084 ( 0.015 ) ~ 0.20
FRE |[FEmEX AWLE —RIRIE 12 0.086 0.034 ~ 0.26
FRE  |[FERHmIAX WER — R IRIE 12 0.084 0.033 ~ 0.26
HRE M HefH (HRHHTE) — RIS 12 0.10 0.051 ~ 0.18
FRE  (WEh N 515 —RIRIE 12 0.11 0.066 ~ 0.24
FaE | E#m BHEER — RIS 10 0.11 0.082 ~ 0.19
FRE  [BATH PEB —hRIRIE 12 0.11 0.049 ~ 0.26
EWE |Eld ELZEBE — RIS 12 0.095 0.030 ~ 0.18
EIWE  |§ikm™ I XRBEWE —RIRIE 12 0.10 ( 0.04 ) ~ 0.19
BIE  |EEm tERER —RRIRIE 6 0.087 ( < 0012 ) ~ 0.32
AR INATR INBIRE B —RIREE 6 0.081 ( < 0012 ) ~ 0.25
BHE |[EHM BHBE —RIRIE 12 0.096 0.035 ~ 0.21
BHE HEM MAED —RIREE 12 0.17 ( 0.043 ) ~ 0.36
BHE |#FTIhH AR —HRIRIE 12 0.17 ( 0.043 ) ~ 0.35
EBHE [RH#H =ER —iRIRE 12 0.17 ( 0.033 ) ~ 0.37
T Gl st RRHEMAETS —RRIREE 12 0.043 (0015 ) ~ 0.081
ey ELXERET HHBAER —IRIRIE 12 0.086 (< 003 ) ~ 0.15
WRE @m7ILIRT  [E7IILTREER — AR IRIE 12 0.088 ( 0.05 ) ~ 0.15
IR B HILRRED —RIRIE 12 0.095 ( 0.04 ) ~ 0.20
RHE petditl B/ HAXMTE —RIRLE 12 0.074 (< 0.004 ) ~ 0.13
EHFE |EFM =ZHE —RRIRIE 12 0.074 (< 0.004 ) ~ 0.13
EHE WA NN —RIREE 12 0.072 (< 0.004 ) ~ 0.13
EHE |[EtHM LtHEB — AR IR 12 0.088 0.040 ~ 0.13
RHFE [#REAh Hiilo) —RIRIE 12 0.085 0.040 ~ 0.13
REFE {Eak; ] FHE —HRIRIE 12 0.083 0.032 ~ 0.13
B  |IRBH Ik B 7 3k BB BRI %2 5 —RIRIE 12 0.084 ( 0.012 ) ~ 0.28
IFEE KRBT P RBIER —HRIRIE 12 0.078 ( 0.012 ) ~ 0.25
IR BIE | KiEH KiFHBAHA & I EEE S BT —RIRIE 12 0.12 ( 0.021 ) ~ 0.54
FBEE |BEERERH BERATED —hRIRIE 12 0.071 0.023 ~ 0.24
gaE 2 BEEHEKR |[ERAES —RIRIE 12 0.047 0.012 ~ 0.091
BEE ([BRETHEX R/ NEEAED —RIREE 12 0.058 0.021 ~ 0.095
BEE  |BETEBIX |RAESRERIES —RIRIE 12 0.062 0.019 ~ 0.11
BEE |BEMHERX BENEBER —RIRIE 12 0.058 0.016 ~ 0.095
BEE  |BETEKX |BK=KE—/NERAER — AR IR 12 0.066 0.026 ~ 0.094
gafE 2 AT X L ERBIE B —RIREE 12 0.059 ( < 0011 ) ~ 0.13
BRI 2 EHH EHHEME — R IRIE 12 0.11 ( 0.052 ) ~ 0.18
BEE [E+H ERE/NERB —RIRIE 12 0.13 0.083 ~ 0.24
BEE  [ZEHET EHHBEAB —HRIRIE 12 0.11 0.041 ~ 0.20
ga[E 2 #hlh B HEmE —RIRIE 12 0.11 ( 0.041 ) ~ 0.20
BEE  [RHM RATERIB —HRIRIE 12 0.11 ( 0.047 ) ~ 0.20
ZHE L2EETHIIIX|EAXE —iRIRIE 12 0.13 0.088 ~ 0.23
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EHE |ZEEMERX |EBB — iR IRIE 12 0.12 0.088 ~ 0.21
ZHE LEEMER |FH/NER —iRIRIE 12 0.13 0.095 ~ 0.24
ZHE |AoETER |BKNMNERB —RIREE 12 0.12 0.082 ~ 0.21
EHE |B8Em N 0] —RIRIE 11 0.15 0.045 ~ 0.38
BHE |Z28h B —RIRIE 12 0.14 0.050 ~ 0.36
ZHIE [if] U v i i T AR L K SGBIE B — R IRIE 12 0.033 ( 0.008 ) ~ 0.065
ZHE —= —EmREBEASAER —RIRIE 12 0.060 0.025 ~ 0.15
ZHE |B@ET o & 5 (= ST HT) — R IR 12 0.073 0.031 ~ 0.12
ZHE N N ERE —RIREE 12 0.075 ( 0.012 ) ~ 0.19
ZHE |HEEH HETATEE —HRIRIE 12 0.12 0.047 ~ 0.23
=58 mAMmH LESRKIER —RIRIE 12 0.22 ( 0.022 ) ~ 0.82
=58 mAETH MATEESRAES —HRIRIE 12 0.099 ( 0.020 ) ~ 0.24
=58 R ARREE /N —RIRIE 12 0.081 ( 0.033 ) ~ 0.14
=F8 |Z£TH =ERRATE —RIREE 12 0.11 ( 0.040 ) ~ 0.24
=FE |FEH FEKrEFER —RIRIE 12 0.083 ( 0.032 ) ~ 0.20
HEE | KEH BEERARFE L 2— —RIRIE 12 0.076 0.028 ~ 0.18
HBEE |EHRT EEIZESK — R IRIE 12 0.11 ( 0.037 ) ~ 0.30
#HEE |REH FEER —RIRIE 12 0.12 ( 0.028 ) ~ 0.31
HBEE |EEh B5EB — R IRIE 12 0.11 ( 0.046 ) ~ 0.30
FEE |E58m EBE5ERTE —RIRIE 12 0.12 ( 0.034 ) ~ 0.31
#HEE  |HEAITH BEIR —HRIRIE 12 0.11 ( 0.043 ) ~ 0.30
REE  |RBTERRX |EFREE — RIS 12 0.12 0.040 ~ 0.22
REEAF  |ER#EHEX B FELELEHEM — iR IRIE 12 0.12 0.042 ~ 0.23
AT At BB A EILLIET [ A LS —IRIRIE 12 0.15 0.065 ~ 0.30
ABRFF | KBERHTEEFX |EERERE —RIREE 12 0.11 ( 0.017 ) ~ 0.21
PN PN A BE/ERB — RIS 12 0.10 ( 0.017 ) ~ 0.22
ABRAF  [SRhmX =ENER —RIREE 12 0.13 0.036 ~ 0.24
AirpF R HFEX EFER — R IRIE 12 0.14 0.045 ~ 0.29
KBRAF - Laakitl ShHFRE —RIRIE 12 0.15 0.052 ~ 0.40
ABRAT  |WRETT wHEMILEEER —RRIRIE 12 0.12 0.039 ~ 0.26
KBRAF =T EFB —RIREE 12 0.094 0.038 ~ 0.24
ABRAF  |#A™ BATEE —RIRIE 12 0.13 0.058 ~ 0.37
KBRAE J\NET INETRERB —IRIRIE 12 0.16 0.055 ~ 0.42
AirrF  |REEFH EBFREERB — iR IRIE 12 0.079 ( 0.004 ) ~ 0.23
KBRAE = B EHMRTEAE —IRIRIE 12 0.076 ( 0.004 ) ~ 0.23
AXrE  |EENH BEENTHEME — iR IRIE 12 0.13 0.045 ~ 0.36
ABRAF  |EEHFD BAFHEME —RIRIE 12 0.082 ( 0.004 ) ~ 0.22
ABRAF  |[RABRT BREE 24— —RIRIE 12 0.16 0.077 ~ 0.34
EEE |#HFTEER |EEEHAKIES —RRIRIE 12 0.15 ( 0.011 ) ~ 0.48
EERE |#PFHEKX |EKKKAED —RIRIE 12 0.11 ( 0.005 ) ~ 0.24
EERE |[#FEHLX BREATAER — R IRIE 12 0.12 0.019 ~ 0.22
EEE |#FEHARX FAHASETER —iRIRE 12 0.11 0.028 ~ 0.20
EEER  [ERH I\RBIE B — R IRIE 12 0.14 0.054 ~ 0.43
EER |E&h E/ HaiBE —iRIRE 12 0.16 0.080 ~ 0.34
EEER [BAEH AARE L 32— — R IRIE 12 0.15 0.045 ~ 0.50
EEER EEm AEmEAE —IRIRIE 12 0.16 0.068 ~ 0.43
EEE  |MXH MAETEFTD — AR IRIE 12 0.30 0.050 ~ 0.54
EEER ol mEIE —IRIRIE 12 0.18 0.051 ~ 0.47
EER |00 oD &MBE —RIREE 12 0.29 0.057 ~ 0.54
ZRE |RBEWH EBRE DR —iRIRIE 4 0.074 ( 0.007 ) ~ 0.18
ZRE |RBWH FAEASELAER —RIRIE 12 0.060 ( 0.007 ) ~ 0.23
ZRE |[X¥EH XEB —RIRIE 12 0.11 0.028 ~ 0.23
MILE | FFrT AAEILAT —RIREE 12 0.15 0.061 ~ 0.44
OFUE | FFlh SAIEIS1=T(EvA— —HRIRIE 12 0.18 0.049 ~ 0.65
fILE [T BA/NER —RIRIE 12 0.096 ( 0.007 ) ~ 0.24
fFILE [FHET FHTYELRER — AR IRIE 12 0.089 ( 0.004 ) ~ 0.26
SHRE B ERETHEISTE —RIRIE 12 0.087 0.025 ~ 0.26
BHRE |XKFm EREXFREMB —hRIRIE 12 0.11 0.051 ~ 0.27
BRE |B&Em EREESREFMRE — RIS 12 0.11 0.053 ~ 0.22
BIRE |#TImH EEWIH —RIREE 12 0.18 0.041 ~ 0.70
fif] L2 i lmdb X BER/NEAR —IRIRE 12 0.17 0.043 ~ 0.33
fif] L2 LR X B /NER —RIRIE 12 0.16 0.045 ~ 0.37
EIWE  |E8h EEENS —RIRIE 12 0.21 0.076 ~ 0.39
i L2 FEILH XEERB —RIREE 12 0.15 0.050 ~ 0.47
ELUE  |EHFH HHEXSAER —HRIRIE 12 0.19 0.055 ~ 0.55
i L2 % EEAKETER —RIRIE 12 0.18 ( 0.039 ) ~ 0.62
LER |EEWAR HO/MNERBIED — R IRIE 12 0.14 ( 0.026 ) ~ 0.46
LEE |LEETRERR|REBXREMIER —RIRIE 12 0.14 0.029 ~ 0.53
LER |&Bm BR/NERE — iR IRIE 12 0.13 0.036 ~ 0.42
LS8 |&m BENEKE — RIS 12 0.13 0.024 ~ 0.43
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LEE |EEm EERSKE —hRIRIE 12 017 0.030 0.38
L5E fallm BE/INERE —iRIRIE 12 0.072 0.033 0.11
LS8  |fElm WAKNMNERB —RIREE 12 0.066 0.025 0.11
LER | XMW AmRAEB — IR 12 0.23 0.063 0.54
LER |[REEM RLEEBAE/NERE —RIRIE 12 0.14 0.028 0.31
WOoE | FEh ABINER — R IRIE 12 0.12 0.020 0.43
WOg [ FEm TEhIRIE AR E R —RIRIE 12 0.16 0.020 0.46
WoE  |FEh FERETE — R IR 12 0.23 0.030 0.80
WOg  |#h PREEILEV IR —RIRIE 2 0.28 0.26 0.31
wog |5E| RERNERB — R IRIE 12 0.22 0.064 0.68
wog Hh EIIhERE —RIRIE 2 0.29 0.14 0.44
WOR  [RIEFAE  |[fIRDIZa=FT—tE 3B —HRIRIE 2 0.26 0.095 0.43
EEE  |IBMH B 5 — RIS 12 0.15 0.032 0.51
SR  |FMEm XiBB —RIREE 12 0.073 0.027 0.17
EEE [REHMILEE |IER —RRIREE 12 0.096 0.028 0.17
FIE |E¥mH EBRHAXRIZS A =T U E— —RIRIE 12 0.089 0.037 0.17
FNNE |[h&h AETEE — R IRIE 12 0.18 (<004 ) 0.34
FIE  RH™H R &R —RIRIE 12 0.14 ( < 004 ) 0.26
FNE  rdd HBEER —RIRIE 12 0.17 (< 004 ) 0.40
FINE [FNRESH |ESHEEH —RIRIE 12 0.17 (< 004 ) 0.35
BIRE  |Wlh EARE —HRIRIE 6 0.14 0.055 0.25
BIRE |FHEM ERHAER —RIRIE 12 0.13 ( 0.011 ) 0.33
EREE |FEEH BPFEEH-RUEXELS— — iR IRIE 12 0.14 0.051 0.31
SHE |Sxh NTERB — RIS 6 0.044 (< 0.025 ) 0.20
SHE  |SxH HER —RIREE 6 0.012 ( < 0025 ) 0.025 )
=S58 T= T=E —RIRiE 12 0.084 0.014 0.14
SHE  |AKH [BABSEFKE —RIREE 12 0.097 0.014 0.18
FBEE  |[tAMTELRR|ERE — IR 12 0.11 (0019 ) 0.31
a2 fammhER | AMB —RIRIE 12 0.099 ( 0.019 ) 0.23
BEE  |damdnasR | BRER —HRIRIE 12 0.091 ( 0.019 ) 0.22
fEEE |[ERHmERX EHE —RIRIE 12 0.12 0.038 0.27
BEE | KZE@AT ERAEHB(RES) —HRIRIE 12 0.098 0.014 0.26
fBEE | ABXKM WP ERE — RIS 12 0.14 0.028 0.30
a2 BT BIIE — iR IRIE 12 0.14 0.026 0.37
EEE  |REm REE — RIS 12 0.15 0.024 0.32
EEE |[EEH EER — iR IRIE 12 0.10 ( 0.008 ) 0.28
EER FEREM RETH —IRIRIE 12 0.096 ( 0.006 ) 0.29
RIFE | R&H N ERIER —RIRIE 6 0.12 0.082 0.16
EIBE |%Em EHEARE —RRIRIE 4 0.21 0.047 0.30
RIFE |xEm [E 5% xt B BR 14 FUBIRE Al —RIRIE 12 0.13 0.006 0.56
BEAE |EEW EX il drile, —HRIRIE 12 0.10 ( < 0014 ) 0.19
NN Ko FFHhERBERD —RIREE 12 0.12 (< 0.006 ) 0.47
AR i ap Al FERETER —RIRIE 12 0.18 0.033 0.45
Ao HHEM FRER R GE AT —IRIRIE 12 0.15 0.031 0.34
EIFE =BT ElaTh I RELE — R IRIE 12 0.081 (< _0.005 ) 0.24
BREE |BREH [iik47ilo) —IRIRIE 6 0.070 (< 0.006 ) 0.13
BERESE |[BEH BER —RIRIE 2 0.10 0.033 0.17
BEREE |EET 25 — RIS 2 0.11 0.039 0.19
Pasbis bt AEFA™ RERE —RIRLE 6 0.14 ( 0.09 ) 0.18
PR it RS —iRIRIE 12 0.088 (< 0.004 ) 0.24
hiEE 25Fh BAREMERD —RIREE 12 0.089 (< 0.004 ) 0.22
HEEE E AR EEEH | E %D P URES 14’ BRI E Fr — AR IR 12 0.063 0.008 0.20
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EFE |=Edam Eam)FREE2— ElEFEBED 12 0.093 0.027 ~ 0.41
=2FE8 SAUEBEEHET |[{FHET—RER B 7E F 4R E D 12 0.063 0.034 ~ 0.12
e |HRH RiRTh S BT R B I ElE FERED 12 0.11 0.063 ~ 0.21
ZWE  |#ilET HIAEE B EEFRLERED 13 1.4 0.074 ~ 5.6
FTEE |HEM hREEER ElE 4R ED 12 0.81 0.036 ~ 6.1
FEE hET EHBES B & F 4 R E D 12 0.17 (< 00023 ) ~ 0.55
FTEE |HEM EABIE ElE 4R ED 12 0.072 (< 0.0023 )~ 0.34
FTEE |HEH it 1% S8 E /5 ElE 4R ED 12 0.25 (< 0.0023 )~ 1.1
FEE |HEH J\IE B E 5 B E 4R ET 12 0.098 (< 00023 )~ 0.34
FEE |#hyET W EERB ElE 4R ED 12 0.18 ( 0.036 ) ~ 0.95
HE)E (BETERX (BRRBEIRISHE ElEF4ARED 12 0.088 0.022 ~ 0.22
AXRNE lEdIgX | XKERRE R EEFLERED 12 0.096 0.036 ~ 0.28
#AFENE JEHIBX W ERER [E 7 F 4 R E D 12 0.096 0.034 ~ 0.28
#EINE |FiFEh J\IB/NEER B F £ RED 12 0.086 ( 0.008 ) ~ 0.22
ZHE ¥HT FHTEERE B E A RE A 12 0.14 0.020 ~ 0.45
=58 mETH =EAER ElE £ R ET 12 0.10 ( 0.024 ) ~ 0.36
HBEER AE T KEFELIKYt 22— EEFAEREA 12 0.11 ( 0.047 ) ~ 0.28
ABRAEF  [RXE#EH RRETEME ElE 4R ED 12 0.084 (< 0.004 ) ~ 0.25
EEE |[#EFH#X HEXKAER B & F 4 R E D 12 0.21 0.025 ~ 0.80
EEE  |ERT 3B B TR T Sk b B F 4R E T 12 0.13 0.046 ~ 0.37
EEE  |m&Elw BT B EEFLERED 12 0.17 0.055 ~ 0.54
EEE [E#h ERER TS5 ElEF4ARED 12 0.37 0.057 ~ 0.78
=RIE | KMELTE EBLLIFRFN 7K 5 EEFLERED 12 0.12 0.029 ~ 0.36
ESRE |#Th T XM #ED EERLEERFD 12 0.17 0.038 ~ 0.60
ELE  |Bgh WiIE B F L RED 12 0.43 0.12 ~ 1.2
EILE || e d=1o) EEFRLERERFD 12 0.19 0.054 ~ 0.34
EILE  |B%mhm BER ElE £ R ED 12 0.22 0.079 ~ 0.43
EILE  |B¥h ZER/INVER B & F 4 R E D 12 0.18 0.050 ~ 0.34
EILE  |B¥m 2N, ElE 4R ED 12 0.30 0.088 ~ 0.50
EILE  |B8hm REBEREI—B EEFLERE D 12 0.24 0.089 ~ 0.42
LE5E LT B ElE 4R ED 12 0.15 ( 0.026 ) ~ 0.48
LERE |EEMRER | KM/NER EEFLERE D 12 0.14 0.036 ~ 0.54
LEER  |fElm BB/INERE B F 4 R E D 12 0.076 0.039 ~ 0.12
LEE |REZMEHE |EHEEKE ElE 4R ED 12 0.15 0.066 ~ 0.33
wag Emm B ETER B E A RE A 12 1.6 0.081 ~ 7.2
WOg  |AjEm ERRIRELRRE EEF L RED 2 0.78 0.15 ~ 1.4
AHRE  |#EH FEILHARE EERLERERFD 12 2.6 0.037 ~ 18
=IFE  |EET ERERER ElE 4R ED 12 0.070 (< 0.005 ) ~ 0.21
HiFE A [ BB EE IS EEFRLERERFD 12 0.069 ( < 0.005 ) ~ 0.21

@ FEHYEDORTAE: ETHYEDS. FADKRKBRHTRIERGETHoHEIT, ZDEEFMEETTRTRLTNS,
Q REHHE (H/ME~RKKE DRTHE :
s R/IMERIFHEKIEDEDN . RETRIERBETHoEHZRIE. [ <(EZBADKRHTRIE) JELTRTRLTLVS,
* R/IMERFHRKEDEL . RETRMEULEETRERBETHoHEEX. [ CAIEMB) JELTRRLTLS,

s R/AMEX[EEKEDEIL. JIS Z 8401 K> THIEZ IO . ABF2TELTRRL TS, F=FZL. MBICE T EEETREDHETEL. TNEIY TOHIERTRLELY,




12-CH00T48y SHAEE &

MERRE| Ak B S IR mikg | TOR L
diEE AT RX |IEEHR Rl 12 0.087 0.054 ~ 0.24
dtiEE FLIRT R X HISTEEHHRE e 12 0.081 0.049 ~ 0.18
tEE |F&Eb RENER e 12 0.15 0.052 ~ 0.39
EFE |—Bm —BEh=RER BB 12 0.054 0.024 ~ 0.10
EHRE WEmEMRR |RER e 12 0.097 0.052 ~ 0.27
=ZERE lEmRE HES e 2 0.066 0.058 ~ 0.075
EHRE |AIH 2R BEBEFEEARAER e 12 0.16 0.071 ~ 0.30
RILE Jn ub:: Mt THEPHEE e 12 0.096 0.033 ~ 0.21
BER SWEFEFHTAER |ZEEHIER e 12 0.067 ( < 0012 ) ~ 0.15
BER W) 1] ENmiEEEHR e 12 0.080 0.016 ~ 0.23
BERE FHM FHEXZAB#E E 12 0.090 0.012 ~ 0.25
FEE |#m BAIER Bl 12 0.10 0.048 ~ 0.36
RE#h  IERER REEREFRH Bl 12 0.10 ( 0.05 ) ~ 0.29
RE#  |[HEAX B/GEY/\IELE e 12 0.10 ( < 004 ) ~ 0.24
#ARINE BETHBFX |BFXEER B 12 0.082 ( 0.014 ) ~ 0.20
#AENE |FiFEH HENERB e 4 0.10 0.047 ~ 0.20
#HEINE | Kfoh AT EREXERD A 12 0.094 0.017 ~ 0.23
FRE |RET Wi B BiE 12 0.11 0.058 ~ 0.17
GIE Frmm HFLAHAER Bl 6 0.087 ( < 0012 ) ~ 0.28
BHE |EHM BHHEHB HE 12 0.096 0.036 ~ 0.21
BIE aslioiit] RREh&FrBEEFEIRE e 12 0.046 0.016 ~ 0.085
IR il ioiiil EBEBEFELIRE BB 12 0.044 0.018 ~ 0.084
W | XKAmW XABIER e 12 0.085 (< 004 ) ~ 0.15
ey EBTH FEIGBIE S e 12 0.088 ( 0.04 ) ~ 0.15
BEE |BETEKX | BHwBRRER e 12 0.064 0.025 ~ 0.11
BEE ERHHRX R-257HIE B BiE 12 0.057 (< 0011 ) ~ 0.12
BEE =B BH=ER el 12 0.12 ( < 0017 ) ~ 0.22
ZHE LEEMIR |SFET K& ERBIFT Bl 12 0.12 0.071 ~ 0.20
ZHE ZEEMRARX [A#hE KX ER AT el 12 0.12 0.078 ~ 0.21
ZHE LZEETER |miENEE e 12 0.12 0.080 ~ 0.21
BHE |28h SER E 12 0.12 0.038 ~ 0.28
ZHE —=m —EBETTEEXRKAER e 12 0.056 0.021 ~ 0.15
ZHE EHT ¥ H /5Tt EET) E 12 0.072 0.036 ~ 0.10
ZHE fRiR HRTEB e 12 0.082 0.020 ~ 0.20
=58 Fid Al ELE235 55 el 12 0.11 0.047 ~ 0.23
HEE |EETh BHEZR Rl 12 0.12 0.050 ~ 0.30
ABRAF BRhEX FIRARE Bl 12 0.14 0.048 ~ 0.26
ABRAF  |RET WRHEZ IS e 12 0.12 0.030 ~ 0.25
ABRAEF |J\EmW AFER BB 12 0.28 0.069 ~ 1.6
N L N ] REGAEBRELV 2B BiE 12 0.15 0.050 ~ 0.34
EERE |BAEM R ) A 12 0.16 0.072 ~ 0.52
EEE EEM BINERE BB 12 0.34 0.10 ~ 0.66
ZRE |EBE™ BEERS A 12 0.11 0.030 ~ 0.22
FFLE ST A E EBA A& EB A SR BiE 12 0.096 (< 0.007 ) ~ 0.22
ERE |BEM REIRXZERB BB 12 0.083 0.024 ~ 0.25
SHRE KFh RXFHEFHIE e 12 0.11 0.049 ~ 0.26
SRE |#TIHh FEEHBER Bl 12 0.17 0.043 ~ 0.64
EILE |[#MEMEEH [REATAIES Bl 12 0.19 0.048 ~ 0.58
LER |LEEHEX LB ILRIE B e 12 0.14 0.028 ~ 0.50
LER |=FEMm ZEEHEE BB 12 0.22 0.052 ~ 0.45
EER |#ES™ BHEER el 12 0.078 0.031 ~ 0.18
EEE |[ERHEZX |TEER A 12 0.13 0.033 ~ 0.28
fBEE |[fEEhEX AEB HE 12 0.11 0.033 ~ 0.24
EEE |[EEHERX |#EHE BB 12 0.13 0.037 ~ 0.28
f& [ 2 HEM HEF el 12 0.15 0.026 ~ 0.34
RIGE RIGH P RIBAES e 6 0.12 0.082 ~ 0.16
EIBE |fA#HAER BEAES E 12 0.15 ( 0.03 ) ~ 0.38
REXE  |EEAT KEBT B Rl 12 0.079 ( 0.003 ) ~ 0.17
o8 |RIEH LER#FRAR TG Bl 12 0.16 0.033 ~ 0.38
BERESE [EEIAT FEEE)IINE e 2 0.11 0.025 ~ 0.20
AR |heET HEH BB 12 0.090 (< _0.004 ) ~ 0.23

@ FEHEDORTAE: ETHEDS. FADKRKBRHTRIERGETHoHEIT. ZDEEFMEETTRTRLTNS,

Q REHE (F/ME~FKKE DRTHE :

* R/MERIFHRKIEDEDN . RETRERBETHoLEHERIE. [ <(EZBADKRHTRIE) JELTRTRLTLS,

- R/IMERFHEKEDEL ., RETREULEETRERBETHoHEEX. I CAIEMB) JELTRTRLTLS,

* BUMEX (FEHEKEDEE, JIS Z 8401ITL>THIEZ AL . AR FUTELTRTRLTVS, =L BHICETAEETRIEDH ETEL, ERIY T DHTITRTLEL,




12-o700I4 ) SH4AEE &N DEEREREL

MERRE| Ak Bl S IR mikg | TOR g Em)
FEE |FETHPRX [FEHEAEHE) EA DEEHFKERE D 12 0.080 0.047 ~ 0.15
FEE |FERERIR|EHFAEBFHEHEEAR RE D FE T F A4 RE D 12 0.071 0.028 ~ 0.15
EWWE |SEHm = KT EA DEIE K AERED 12 0.10 ( 0.04 ) ~ 0.19
ZHE [it] W5 T & RA{E RSB S EA DEIEFKERED 12 0.032 ( 0.005 ) ~ 0.063
EERE WFTREX |(RBEESEINES EA DEIE AR ED 12 0.58 0.079 ~ 1.8
EEE  |damd/\BER |FEAREEER EA DEIE K ERED 12 0.11 ( 0.024 ) ~ 0.29

@ FEHEDORTAE: ETHYEDS. FADKRKBRHTRIERGETHo-HET, ZDEEFMEETTRTRLTNS,

Q REHE (F/ME~FKKE DRTHE :

* R/IMERIFHEKIEDEDN . RETRERETHoLEHERIE. [ <(EZBADKRHETRIE) JELTRTRLTLS,

- R/IMERFHEKEDNEL ., RETREULEETRERBETHoHEEX. [ CAIEMB) JELTRTRLTLVS,

s B/MER (FERKREDEE, JIS Z 8401IZL>THIEZ AL . AR FUTELTRRLTVS, =L BBICETAEETRIEDHETEL, ERIY T DHTITRTLEL,



